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1m = 100cm
24 1m? = 1m X 1m = 100cm X 100cm
= 10000cm? YUYt
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@0.9hab:|:|m2 @ 600m?2 :Da
® 1.7t =] Jkg @ 80000kg =[ Jt
® 60ha=] |a
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@ 9000
@ 6

® 1700
@ 80
® 6000
- O
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5.6 ha = 56000 m? < 550000 cm?
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- 5000g = Dkg
-4t =Qkg

- 900ke = Bt
14t =D@g
-0.12t = @kg

@ 5 @ 4000 ® 0.9
@ 1400000 ®n2

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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Ad=2aho] B 1 40 x 100 = 4000( kg) = 4(t)
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(1)500ha =[ |km?
(2) 20300000m2 = |ha
(3) 7000000m2 = | |km?2
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1km? = 100 ha = 10000 a = 1000000 m?2
(1) 500 ha = 5km?

(2) 20300000 m? = 2030 ha

(3) 7000000 m? = 7 km?
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0.07km2 = Jha=[ =] |m?
> E

> ®ehl 70707

1km? = 100 ha = 10000a = 1000000 m?
0.07 km? = 7ha = 700a = 70000 m?
[ Jetoll Eo1Z 4=9] F-2 7 4 700 + 70000 = 70707 YT},




O 24a=240m? @ 1300a = 1.3ha
@Ska = 80000 a @ 1.6km? =1600a

® 47m? =470a

B

1km? = 100 ha = 10000 a = 1000000 m? ©]|2&
@ 24 a = 2400 m?

© 1300a = 13ha

@ 1.6km? = 16000 a

® 47m? = 047a




13. Hol7} 7229 HAZFE moFo] L5
o) ol7k 90m e w, 7hze] Aol B m AU

=F .

> HEh: 80m

o
30,
ol
i)
o
o
Mo
offl
ol
1o
=
il

la = 100m?, 72a = 7200 m?
7200m? + 90m? = 80m
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@ 540g°] 10000H]+= 5.4 tJUTh.
@350 kg+4.7 t=820kg

® 570000¢g + 0.043t = 613 kg

@ 5kg°] 100081 5t Yt

® 420kg 9] 100 v 42t YU Th

@350kg + 4.7t = 350 kg + 4700 kg = 5050 kg




15.

5t 714 BAS 4L 4 9k Edo]

FAZF1.25kg Q1 AFAHE A o2fal st

AR A 2.
=

>
> ®E D 400074

B

AL @7t ERng Fo Tejg
5t = 5000000 g

1.25kg = 1250 g

5000000 + 1250 = 4000 (7)
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1t = 1000kg
4.5t = 4500 kg YUt}

4500 + 28 = 160.71 - - - (7)
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36 x 500 = 18000(kg) = 18(t)
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1440000 = 1800 = 800( cm) = 8( m)
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2 ha ¢17] FLSHA] 2.

3.6ha

B

(2ol go

1)= 480 x 600 + 2 = 144000( m?)
) 1
(5Hro] Ylo])= 144000 x ik 36000( m?)

mHebA], 36000 m? = 360a = 3.6 ha YUt}
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(FF= 9] Zol)= (150 + 2) — 35 = 40(m)
(Z3F9] glo])= 40 x 35 = 1400( m?)
la=100m? ©|2 & 1400m? = 14a
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600 x 200 < 2 = 60000( m?)
= 6(ha) = 1(ha) = 6(7)
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24. 7t=27F800m, A=7F 750m Q1 AAFE meFo] o] glgytt. o
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800 X 750 = 600000(m2) — 6000a = 60ha
wehA], 10ha 91 ¥ro 2 =1 677} Hych
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ZA-2oldlE 3.2ha 9] =oll A & 5.6t & AR, WFlE 4
o] ol A & 7920 kg 2 AATSIALSUTH 1a & AL o
2 kg © B5U7P?

®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg

~&B \

A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth




